==ATIVIDAE REFERENTE AO CAP 13==
1)500.14+1000.4+1500.2+2500.2+2000.2/14+4+2
7000+4000+3000+5000+4000/18=12,77...

2)2500.170+ 2000.235+ 1000.260/170+235+260
425000+47000+26000/5500
1,155,000/5500
R$210,00

3)500.30+1000.60+1500.10/30+60+10
90000/100
R$900,00

4) 600/360 graus = 160/x
600x=57600                             {PREFEREM HISTÓRIA}
X=96 graus

600/360 graus = y/126 graus
360y=75600                             {PREFEREM MATEMÁTICA}
X=210 alunos

210+160+z=600
z=600-210-160                       {PREFEREM PORTUGUÊS}
z=230

5) MODA:1,75 m
MÉDIA:1,68+1,75+1,75+1,62+1,65/5
8,45/5= 1,69 m

6) a+b+c+d/4= 10
a+b+c+d+e/5=11
10.4-11.5=15 anos

7) 2,9+5,3+0,6+x/4=2,5
2,5.4=10
2,9+5,3+0,6+x=8,8x
X=10/8,8
X=1,2

8)5.3=15 {VITÓRIAS}
   3 {EMPATES}
15+3=18 pontos

9) A)175000-122500=52500
B)175000/360 graus = 35000/x
175000x=12600,000
X=72 graus

10) 3.1+ 6.1/1= 9/1
3+6+2x/4
9+2x/4 maior ou igual a 5
9+2x maior ou igual  a 20
2x maior ou igual a 20-9
2x maior ou igual a 11
x maior ou igual a 5,5

